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full marks for the questions.

Answer either in English or in Assamese.

Sw1eT Gl STINe Gey A

1. Choose the correct answer for the following
questions : 1x10=10

woe Al eRiERT w@ OS0! Al Bfereal ¢

(a) The minimum number of members in
a private company is

! fEH® @IS TR TS AT
() 323
(i) 4/8
(i) 6/v
(iv) 8/v ;
Contd.



(b)) Which one of the following documents
is required to be filed with the Registrar
of Companies at the time of:
incorporation of a public company ?
SfeEd @A GO HeREEes e e
e o | Ok DT e AR B RCR SR R R B

=0l 2

(i) Articles of Association
LS UNCERIEG

(i) Memorandum of Association
(el

(iii) Prospectus
S suak

(iv) All of the above
T FRCENRA

(¢ The maximum number of companies
in which a person may hold the office
of director at the same time is
T T T TGS AT (I P
R4 ol AR A TR
@ 8/¥
(i) 10/%0
(i) 15/5¢
(iv) 20/X0
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(d) The remuneration of first auditor of a

company is fixed by the
@Bl (AT eNe f2biel A9 AR

IES IS

(i) Board of Directors
SieeIeTs ARE

(i) Managing Director
SATBIeT AT

(i11) Corﬁpany Secretary

‘ AR AR

(iv) All of the above

AT AR

(e) In which year was ‘The Depository Act’

passed ?

@ 5o oA o) i g 91 C2feeT ?
(i) 1966/3v0v

(i) 1976/5»9Y

(iii) 1986/ 55bY

(iv) 1996/55Y
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() A Director cannot be reappointed.
T AR 7N Fyfe e @R
i) Correct
S@
(i) Incorrect
A1)

(g0 The office of the Registrar of Companies
is not a public office.

(IR GRS ARG @6 Iiey
e =3 | |

(i) Correct
{:3121‘
(i) Incorrect

Rk

(h) A person can incorporate only one ‘One
Person Company’.

G GG TG G5 ‘GET AN
Woased sR1 @

(i) Correct
N1

(i) Incorrect
SR
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(i) Articles of Association can be altered
by passing a special resolution.

R AW ezl $E rerEae Fasiket SiRae

JRa =R |
(i) Correct
wm

(ii) Incorrect
R

() Dividend cannot be paid out of capital.
TEES A ST i I IR |
() Correct '
g
(1) Incorrect

IR

2 . Answer the following questions : 2x5=10
Rrsre gees oed Pl ¢

(a) Write the names of four statutory

companies.

siEnr BRmE @ e R
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(b) What is prospectus ?
SR T (@I 2

(c) Write two differences between
Memorandum of Association and
Articles of Associatiqn.

HRSEHR Wi e RN e 757
ey frat)

(d) What is special resolution ?
R 2B FI6 @Net?

(e} Who can be apbointed as auditor of g
company ?
(=Nt «B1F fZpiet s 2ol i yfe
A= A2

3. Answer the following questions in about
200 words each : (any four) Sx4=20

ol 200 I *Fq Tege FHE evzs Tey
o1t ¢ (Reprean wifoy)

(@) Write the differences between private
company and public company.

JfSNS @IIN o G @GR Ters
2l ANLFEIT o720 |
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(b) -

(@)

(e)

Write the differences between transfer
and transmission of shares.

Y DT I S (2R Nee 4
RIS E R

-Briefly state the main provisions
regarding the annual general meeting
of a company.

I <GB AT TR TS HAFS el
RuPTE oes e 4 |

Briefly state the various types of
dividend. '

fRfen ol seieR Ra@ vIe 3991 9 |
Briefly state the advantages of
depository.

o fbSI9 JRUPTHR B3ee A1 31 |
Explain the features of depository

~ system. Also write the names of two

depositories functioning in India.
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4. Answer the following questions in about

600 words each : 10x4=40

2! 2% TEY Yoo Wi *R< [Seq® IR eaegd
Tes ol ¢

(a) What is company ? State the

characteristics of a company.
2+8=10

T T QT2 @A) o EHEERTTE
Jeft 41 |
OR / w941

State the various stages involved in the

process of formation of a company.
10

@R GBlE sion dfeme @ wive [fen
TR <991 1 |
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(b) Discuss the procedures of alteration of
(i) Name clause, and (ii) Object clause
of Memorandum of Association.

7+3=10

TSR (1) ST T, w% (i) ST TN
ARG FILRATIR HEo F1 |

OR / ©341

What is forfeiture of shares ? State the
procedures of forfeiture of shares. Also

state the effects of forfeiture of shares.
- 2+4+4=10Q

TeNE ST FIF Q2 SR
FACTAIGTOR PILEARTRR I 4| Tl
g ACCHGFIR. AR 36 1

() What is the meaning of ‘Director’ and
‘Board of Directors’? Discuss the
different types. of director of a company
on the basis of provisions of the

Companies Act, 2013. 2+8=10
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(d)

FeeleT O e ARard O {2 2050
5 RIS i Reeres esik fofe o
@ G &fed 2FRE AL I
D 4 |

OR [ &4l

State the functions of the different
committees required to be formed by
the Board of Directors of a company.

| 10

| @I GBI e ARAE 510 PRI

fRifon Aoz FILETRR 9= 5|

What is dividend ? State the statutory
provisions relating to declaration of
dividend by a company. 2+8=10

T P @2 T G513 T CREel
CFae WA SR Sizeere RePRE 3
|

OR [ 5241

State the circumstances under which
a company may be wound up by the

National Company Law Tribunal.
| 10
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